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INSTRUCTIONS TO CANDIDATE

1. The Question-booklet contains 100 objective type questions. The candidates must
attempt all the questions. There is no negative marking.
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2. No Second Question-booklet OR Answer Sheet will be given to the candidate under
any circumstances whatsoever.
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3. The candidate within 10 minutes of the issue of Question-booklet, will check up and
ensure that it contains all the pages and no page is missing. In case of missing page(s),

the candidate should report to the Invigilator and get it changed other for a complete
Question-booklet. '




10.

il.

12.

The candidate will write Roll Number only on the Cover Page and on the Answer Sheet of
the Question-booklet at the places provided for the purpose and nowhere else, otherwise
the candidate will be disqualified in the Entrance Test.

st yo-gites @ et g T o gy ouw & Al v ox @ ot ST

- =
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Do not write your Roll No. OR Name inside the Question-booklet.

F9F- Gl % STRY ST A SVl STgRTH T forE !

There shall be no erasing or overwriting in the answers given on the Answer Sheet,
in which case such answers shall be deemed as incorrect.

TAT 0N W R ud Seteqw e a6 frem ar ded Red @ garg qff @ o,
whifs Uit fuley § arffem zew) @) srgpee w9 AT SMAT

Usc ol log tables or calculators is not permitted,

TR Al #; T & sudnT @ g 7@ S

No candidate will be permitted to enter the Examination Hall after the expiry
of 30 minutes from the commencement of the Entrance Test.

THaT greE A & 30 fude & g BRSO aoemdl @ ofwn waw A wqawr #oagatd
J & S |

No candidate will he permitted to leave the Examination Hall until the expiry of
two hours from the commencement of the Entrance Test.
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Candidate will not bring any loose paper, whether wrilten or blank, inside the
Examination Hall except the Admut Card.
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Candidates using any kind of unfair means OR attempting to causc dis_turbgnc:es in th.cl
Examination Hall shall be liable to be expelled from the Examunation and his/her

performance in the Test will be cancelled.
3 i o @ s @ S et gu s S e § T gL T
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Candidates arc required to deposit the only OMR Answer Shcet at the close of the

Examination.
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SCHOOL ENTRANCE TEST, 2017

CLASS : XI
&l ¢ XI
MATHEMATICS
e
Time : Two Hours | [ Maximum Marks : 100
F9g : gl g2} [ g1 : 100
IMPORTANT

| Read carefully the 'Instruction for Answer!ng given on the |
Answer Sheet and answer the questions as directed : \
TG gv Ry T aﬁ?@?ﬁaﬁm#%/%qa@a‘w’am?#
T ST HIT [RRIFEre FaY Qr -

1. In which median sound travels fastest ?

(1) Solid (2) Liquid

(3] Gas (4) None of these
Ry Ao ® @ty 9 aer st & 7

(1) a3 (2) ==

3) m (4) &4 4+ ?reﬁ

2. A sound wave has a frequency of 1 KHz and wavelength 0.8 m.
The speed of sound will be :

(1) 80 m/sec : (2) 800 m/sec
(3} IBO'DO m/sec _ (4) 80 em/sec

(3) P.T.O,
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4,

ush ety T9 @t srgfy 1 feei-west gam a@Re! 0.8 H g sl
T g

(1) 80 /8 (2) 800 H1/¥
(3) 8000 /& 4) 80§ Hi/a
A body of mass 5 kg falls from-rest from a height 10 m from

carth's surfacc. The kinctic energy of the body on the earth's
surfacc will be (if g = 9.8 m/sec?)

(1) 490 Joule (2) 50 Joule

(3} Zero (4) 49 Joule

S Fra meme #1 us aeg, B 4 gl @ wwe § 10 W A
S | Fredt ® geg @t fesT 0 gl & §ag o7 ' (3R g -
9.8 "W/ g% ¢ '

(1) 490 ST (2) 50 I
(3) fq= (4) 49 ST

A force of 10 Newton causes a displacement of 2 m in a body in its
own direction. The work done by the force is :

(1) S Joule (2) 20 Joule
1
(3) 2.5 Joule (4) T Joule

10 =[ee @1 uF o U (S @ ae w Rew A 2w e S
¥\ aw g fear w2

(1) 5 9 (2) 20 =

(3) 2.5 5 (4) c it
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5. A 500 gm packet having volume 300 ¢m® is placed in water
(density of water = 1gm/cm3). The packet will

(1) float in water (2) sink in water
(3) displace 500 gm water (4) displace 500 cm3 water

soomm%ﬁa%mmmaﬁ'sooﬁﬁﬁr,wﬁﬁww
& (It B T = 1o, ae), e

(1) o=t & (2) arft & g& SR
(3) 500 I qrl Fenie (4) 500 {T° gt serdEm
6. If the distance betwéen two objects A and B is halved, the
gravitational force between them :
(1) is halved (2) - becomes 4 times
{3) remains unchanged (4) becomes two times
aft A aegell A T B & A A g o AW & omw, @ v
g TEEERT T - |
(1) omrar & sy & .(Z)W?TE}WT%
(3) orufafda wear B (4) ZUAT B Smer B

7. A body of mass 5 kg undergoes a change in speed from 30 m/s to
40 m/s. The change in its momentum is :

(1) S5kgm/s | (2) S0 gmm/s
(3) S0 kgm/s (4) S0 kgem/s

5 PR o A uh aeg B oaw # uRadw 30 fi/& @ 40 @/
BRI R | 59 @A F o ¥

(1) 5 e #i/9 (2) 50 I H/F
(3) 50 fm i/  (4) 50 @Fm &/

(5) P.T.O.
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8. An electron enters a magnetic field at right angles to it as shown
below. The direction of force acting on the electron will be :

i S
f _ magnetic
/ T field
J -
direction of motion
of electron
(1) to the right (2) out of the page
(3) into the page (4) to the left

U TOF U ek 89 & ardaq WAy Har © orer fh e A
REEr T B zdedE Wwﬁmﬁaﬁaﬁrﬁwéﬁ:

/

)
ERCTAR NCHIIR]
CANET)
(1) ==t iy (2) U= B 9@ &H AR
(3) U9 & orer Al AR (4) I 9

9. The magnetic field inside a long straight solenoid, carrying a
current :

(1) is zero
(2) is the same at all points
(3] increase as we move towards its ends

(4) decreases as we move towards its ends

(6)
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11.
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U HRIT STl gd et avdl ulvefien & e YRR Al
(1) <9 &ar &

(2) #4l fargedt Uz TIE @ @

(3) 8 T R B AR A ¥ S gear 2

(4) 9% B0 & IR S oR gear ¥

A white light beam entering a glass prism splits into seven colour
due to : ' '

(1) Reflection (2) Dispersion

(3) Diffraction (4) Interference :

TEI B TH A G W  Bow F Ay we Gog @ Gt §
¥ aore | R & orh ¥ 2

(1) 9ER= (2) faggor

(3) fdect= (4)  =aferprar

A person with hypermetropia :

(1) can see distant objects clearly but cannot see nearby objects
distinctly

(2) can see nearby objects clearly but can not see distant objects
distinctly

(3) finds it difficult to see nearby object comfortably and
distinctly

(4) cannot see nearby objects clearly and distinctly

degfe & oifte afm -

(1) T T IEg H TH-A6 @ wHd ¥ R W A awgell
AT e A Hehen |

(2) FTRE H awgett # "iE @ wedr ¥ Ui gx @ agell @
S-S FE 3T Fehell

(3) wﬁa@aﬁzﬁwﬁﬁmmﬁ—w%@ﬁﬁéﬁ%ﬁr@@ﬁ
% -

C(4) U o aEgsi B W T ST 3 aehdT

(7) " P.T.O.
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12.

13.

14,

15.

Voltmeter has high resistance so that :

(1) Tt takes large current from the circuit

(2) It takes a ncgligible current from the circuit
(3) Tt can be connected in serics

(4] None of these

qrFerey § Feg wfagle o g 3 ed

(1) gz ofvaey § wafers ST ddr @

@) 7% ufua @ qes uwr A B

3) @& =vfms § e ST AT B

(4) 57H 9§ @1 A&l

At the time of short circuit, the current in the circuit :

(1) reduces sustantially (2) does not change

(3) increases heavily (4) varies continuously
oTTe Wiehe & wmay, yfyye H o

(1) #I%l o= St 2 (2) ufaida &€ 2@l 2

(3) Tfis g¢ Wl ® (4) AR el Bl 8

Which of the following terms does not represént clectrical power in
a circuit ?
g B & oy, el Sge uitaw & g wfey w8 Frefud v ® 7

0
(1) 7°R 2) IR? 3) V.1 (4) ‘;

The resistance of a wire of a given material of length ! and area of
cross-section A is 4 ohm. If length of the wire is /2 and area of

cross-section 2A for the same material, then the regiastance will be :

(1} 40 2) 20 3) 10 4 =0

(8)
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U gA B [ ol qu A STy RelT § O are w uEaY 4
ﬂﬁ%lﬁﬁﬁ@ﬁ%ﬂﬂﬁmI/QHﬂTﬂjﬂTﬂiqﬁw?Eﬂ
8, ar ufeey enn

(1) 4 a7y (2) 2 3y (3) 1 37\ (4) %aﬁn

Current through a resistor is :
(1) Iriversely proportional to its resistance

(2) 'Directly proportional to resistance

(3) Independent of its resistance

(4) Directly proportional to the square of the resistance
U WY & B ot g oy St D

(1) 8% dfeRra & Feramurd

(2) 9’ % FErgud

(3) THH wiedty wx Fywiv ad @zar

@) wiey % avf & gemuEh e @

The work done in moving a charge of 2 coulomb in a potential
difference of 12 volts region is

(1) 6 Joule (2) 24 Joule (3) 48 Joule (4) éJouIe

lzaﬁﬁ%ﬁﬂaméﬁfrzagﬁm%aﬁﬂaﬁwﬁﬁﬁ?mw
HE T

(1) 6sm@ (2) 24 s@ (3) 48w 1) = ST

The least distance of distinct vision for a young adult with normal

vision is about :

(1) 25 (2) 2.59 (3) 25&H (4) 2.5
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19.

20.

21,

Which color of light is used in the hcadlight of a car in a [oggy
day ?

(1) Blue (2) Yellow (3) Black (4) Red
e & aEer § wr #) dzense d fRE BT H mAn A S

£

(1) e (2) diemr  (3) (4) T

An object is placed at the centre of curvature of a concave mirror.
The distance between its image and the polc is :

(1] equal to f (2) between fand 2f
(3) cqualto 2f (4) greater than 2f

s, o6, W% oA <dvT F awdl Fw UL T STl 2 zE®
gfafers o yo F A @ gl & ¢

T

0y S Q) 2f B d
ST e @ of & s

Neutron particle is heavier than which one of the following
particle ?

(1) Droton (2) Electron (3) Nucleus (4) Positron
qg‘iﬂ'am“mr’%f@affﬁfﬂmﬁfﬁ@m%? ,
(1) e (2) e (3} +AIeTR (4 i

22, The power of combination of a convex lens and concave lens of the

same focal length is .

(1) Zcro Dioptre ’
(2) Infinite

(3) Inverse of focal length of convex lens

(4) Inverse of focal length of concave lens

(10)
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25,

SET/17/20/(ii)
A BHE I B IO QF Sdd dF D G e ¥
(1) T3 S
(2) =T
(3) Suw o9 & HHET git B Fopw
(4) eraqd 9 B BERE T F1 R
Light enters from water into glass plate, the refractive index of

glass is % with respect to water and gpeed of light in vacuum and.

glass are 3x108m/s and 2x108m/s respectively. The refractive

index of water with respect to air is :

URIST, U ® B @ W ¥ yAw wmIar T, g & HNE B @6

amﬁmg%,amﬂfﬁrwaﬁwﬁﬁh@ﬁﬁﬁmw

3x10°/& qem 2x108 H/& ¥ ah W ovEdeiE arg B A

g _ |
3 4 4 8
= — 3 — 4y =
m 3 @ 3 @) < 4 5
Inside water, an air bubble behaves like :
(1) Flat glass plate (2) Concave lens
(3) Convex lens . (4) Plane mirror
Ul & AL HIE BT F JAGAT [he T HAEN Heel B 7
(1) HAaT W e (2) oTade &g
(3) wuer o9 (4) €m&T &Y

Which one of the following quantity remains unchanged in parallel
combination ?

(1) Voltage {(2) Current
(3) Resistance (4) None of these

(11) P.T.O
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26.

@l

28.

Fr=ferftger ofsr § =-dr ofer afest & gumear @0 " siigd @)
e} Ogedl & 7

(1) AYaray (2) &
(3) T @) =A% | mig T8
A fraction becomes % when 1 is added to each of the numerator

and denominator. However, il we subtract 5 from each then it

1 oo |
becomes 5 the fraction 1s :

' S 4 [
Uep HIT B IR NT BY &1 H 1 Siisd uX 98 geﬁuﬂm%, ST

1
Saaﬁwazaaﬁam%,aaw%:

b @ 3 O
If cos (o + B) = 0, then sin (¢ — f) =

qfé cos (a + B) = 0, T sin (o - B) =

(1) cos2F  (2) cosB (3) sin2  (4) sina

The cumulative frequency table is useful in dctermining
the

(1) mean (2) median

(3) mode (4) all of these

SR STl GIROM «oeeerenennes Preped ® SUanh eril 2 |
(1y wrey - (2) HEd=h

(3) G (4) T | @il

(12)
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30.

31.

32,

33.
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A student calculates that the probability of his winning the first
prize in a lottery is 0.08. If 6000 tickets are sold, how many
tickets has he bought ? -

U (e IO T & FF ouw dledt § ouw e qienr S
w1 WA 0.08 81 3k 6000 fewd =t i & SEN e RwE
g{Er 7

(1} 120 (2) 240 (3) 480 (4) 760

If mode of a series'exceeds its mean by 12, then mode exceeds the
median by ............

A Al A AgEE gad Aem @ 12 A ¥, q9 aged TEe
210 s R 3R &)
(1) 2 (@) 4 (3) 6 (4) 8

The number of solid spheres each of diameter 6 cm that can be
made by melting a solid metal cylinder of height 45 cm and diameter
4 cmis

45 T SA SR 4 W A B uw uig F SW e qg Aa
B TOEAHT 6 Al A D O MR A X I Hear T

(1) 3 (2) 5 (3) 6 @ 9

In decreasing the radius of a circle by 30%, its area is decreased by :
UH T B BT F 30% FH B U SE@HT ANGT FT A oAy T
(1} 30% (2) 49% (3) 51% (4) 60%

An aeroplane at an altitude of 200 m observes the angle of

depression of opposite points on the two banks of a river to be 45°
and 60°. The width of the river is '

1 1
(1). 290[1+7_§J m . ) 200{1 _ﬁ) m
(3) 200(1+v3)m (4) 200(1-+3)m

(13) | P.T.0.
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34.

35.

36.

200 Ht @t Hug Wﬁémﬁﬁﬁ%a%ﬁwﬁuﬂa
fargall @1 sra== 10T e 45° ofX 60° B | a1 & €I=E ¥

(1) 200[f1+i\ri1 2) 2 Wrﬁ
(3) 200(1++3) =t @ 200(1-+3)

In the given fig. AD is the bisector of £ZBAC. If AB = 10 cm,
AC =6 cm and BC = 12 cm, then the valuc of DCis :

Ru o fomr #, AD FIv1 BAC #1 HHI&WSE T, AB = 10 aH,
AC=6 8 afw BC = 12 &1 &, @ DCH AF & :
A
10 cm . _6 cm
B D C
«— 12 cm =

(1) 4.5cm (2) 5.5cm
(3) 4 cm (4) 5cm

If two vertices of AABC are A(-1, 4) and B(5, 2) and its centroid 1s
G(0, -3}, then the coordinates of C are :

T AABCE S Y A1, 4) 3T B(5, 2) S 3R F=F GO, -3) 2
g9 C @ fderes 2 ¢ ' _

(1) (4, 19) (2) (-4, -15) (3) (15, 4) (4) (~15,-4)

If a point P divides the two points A(5, =2) and B(9, 6) in the ratio
3 : 1, then coordinates of Parc !
Zﬂ"&’Q?E%I%Paﬁ—-g’aﬁA[S,—E]aﬂTB(Q,fi)aﬁS:1%31@@[?[95
R AT 8, a9 favg P& e ¥

(1) 7 2) @ 8) @ (02,8 () 64

(14)
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41.
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The sum of n terms of the A. P, «,5, v'g, J18, \/2’5, ..... 18
Tk HAARR A9 2, V8, VI8, V32, ... B n uSi @y am B -
(1) —}:n(n+1] (2) V2 nn+1
V2
1 e .
3) —mn+)in+2 4 2in+1)n+2
(3) @[ Jn+2) (4) V2 +1)n+2)
The perimeter of a rectangle is 82 m and its area is 400 m?. The

breadth of the rectangle is :

(I) 9m (2) 16 m (3) 20m (4) 25 m

N, ST 1 qATg 82 M § o & 400 @ W 24 oga
aNeE

(1) o4 2) 16 = (3) 20 =t 4) 25 T

If 7cos?0+3sin26= 4, then the value of cot 6 is :

gfg ?cosge+35in28=4,?ﬁrcot6ﬂ HE 2

(1) —}5 @ V3 @) 1 4 0

The value of cote . 4, tand 1S :
cot8-cot30 tan®- tan 30

coth N tan@ T % ;
cotf-~cot30 tanB-—tan30
(1) O (2) -1 3} 1 (%) 2

In a rhombus of side 10 cm, one of the diagonals is 12 c¢cm long.
The length of the second diagonal is :

(1) 8em 2) 12 em (3) 16 cm (4) 22 cm

10%@@@%&%%@@12%%1@%
ferenot @t T B - |

(1) 8 2) 129 (3). 16 = | (4) 22 |+

(15) - BTG
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42, In a triangle, the perpendicular from the vertex to the base bisects
the base, then the triangle is !

(1} right angled (2) isosceles
(3) scalene (4) obtusc angled

up faws ®, ofr d st o) e eneid A fEeTREe @ €, T

(1) F9ET (2) waf=aig
(3) FeramaTs (4) s T

43. In an isosceles AABC, if AB = BC and AB? = 2AC?  then £2C =
o @efaag AABCH, af& AB=BC3IR AB® =2AC?, 79 ZC =

(1) 30° (2) 45° (3) 60° 4) 90°

- are two

44. The graphs of the equation Bx - 15y = 8 and 3x - Yy =
lines which are ........c ;

(1} coincident

(2) parallel

(3) inlersecting cxactly at one point
{(4) perpendicular to cach other

@il 5x - 15y = 8 2R 3x-9y'—--2: & UNE & deng g S

............. ¥
(1) oreh
(2) HHFTEY
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5 1 : 3 .
Solution of the pair of equations —— ¢ —— _ - == ] will

b x-1 y-2 7 x-1 y-2
c:

1 6 3
e g 2L g -—u—_lmrsaé’!‘ﬂ
<] g2 ¥l Pl

)
|
|
I

(1} (4, -5) 2} (-5, 4) (3) 4, 5) 4 G4
Ifa+b=5and 3a +2b=20, then valuc of a + b is :

MR a+b=5MT3a+2b=208", § a+b® T & :

(1) 10 (2) 15 (3) 20 (4) 25
If3, -1, ——31~ are zeroes of a cubic polyrlom.ial px), then p(x} =
A Bt agw & g 3,1, - L, aw ply =

(1) 3x3-5x%+11x-3 (2) 3x® -5x2 ~11x+3
(3) 3x%-5x%-11x-3 (4) 3x°+5x?-11x-3
If x + 2 is a factor of x2 + ax + 2b and a + b= 4, then :

qf% x? +ax+2b B T x+ 2% M a+b=4, a9 :

() a=-1,b=5 (2) a=5,b=-1

3} a=1,b=3 4) a=3,b=1

If 3 is the least prime factor of a positive number a and 7 is the

least prime factor of a positive number b, then the least prime
factor of a + b is : '

4% TR S a F AT FIST o 3 § oW g e
b T LATH A o 7 B, T @ + b EH AIH AT T L

(lJ_2 2) 3 (3) 5 (4) 10

(17) P.T.0.
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50. Largest number that divides 245 and 1029, leaving remainder 5 in
cach case s :

g g9 der P 245 ot 1029 @ fafa w3 9 Yl
fefer d 99ser 599, a8 ¢ -

(1) 15 2) 16 (3) 9 4} 5

51. When and where the first Metro train started in India ?

(1) Mumbai in 1864 (2) Kolkata in 1984
(3) Rajasthan in 1870 (4) Assam in 1999
Wﬁqﬁﬁﬁzﬁaﬁﬁaﬁ?ﬁ%@ﬁ?

(1) =% ¥ 1864 (2) eHieTeRar o 1984
(3) ™ H 1870 | (4) <rEH H 1999

52. Mohit Ahlawat is associated with which Sports ?

(1) Chess ~ (2) Cricket
(3) Boxing (4) Badminton
Hifea oTewmEd ey @q & gxfag 8 7

(1) SIS (2) Teheb

(3) MR (4) Fesfesa

53. The Rajiv Gandhi National Aviation University (RGNAU) is located

in which state ?
(1) Andhra Pradesh (2) Telangana

(3) Uttar Pradesh (4) Madhya Pradesh

(18)
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33.

56.

57.

58.
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Iefier e Usie IgsTd fasafaenaa g wog o feg B 7
(1) 9T e (2) AT
(3) IAT W= (4) w=g wRST

Who is the present Governor of Arunachal Pradesh ?
(1} Banwarilal Purchit (2) Vishwanath Shetty
(3) P.B. Acharya " (4) Krishan Kant Paul

IEITHT WA BT GAHE TR @i & P
(1) =ariene gafew (2) Rzasmy Sied
(3) dlo slo amraRd (4) P H i

Karang, which has become India's first cashless island is located
in which state ? '

(1) Gujarat (2) Manipur (3} Kerala (4) Mizoram
BTN, O T HT ISl by &9 =7 8, fpg T ¥ Ry B ?
(1) T (2) w=ftgy (3) FF (4) s
& B smEr geEw & ge ot ¥

(1) el 7= (2) g ==

(3) oI /AT (4) & F g s@Ar

‘gt wer fRe By # e B 7 |

(1) g=TeEs da (2} T

(3) SHELHT THE (4) weRdl gHi

ST T S 59 arEgisT B Y U oleE
(1) sEmE (2) ST (3) w=gTTT (4) AR

(19) P.T.O,
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59. ‘|3 & ygT FEF B -

60.

61.

62.

63.

64.

65.

(1) «far (2)  engm (3) <
aret’ g gatggrE 2
(1) udd (2) =iepsor (3) eASfH

QoI W HY, FHege WO HL H wIH B
(1) =9 (2) T (3) IS
- AR A & 7

(1) 3f4ept ST A g Aifaal ) siEr @it |
(2) =& feereex IET @ R

(3) 3¢ famrerE 7 99 o faemdt €

(4) T H e REEE §

TN T faeredt erer ®

(1) 18T (2) famzor
(3) oTIETR (4) STFEIT
‘TEFadl 69 U & 9= § 7

(1) caH (2) =9 d

(3) ana (4) feRsh

T # worw B

(1) ST 2) a7

(3) IS ' (4) FHERT

(4) TR0

(4) Ffafex

(4) =
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66. "Ten thousands saw I at a glance, Tossing their heads in sprightly
dance". These poetic lincs are from which of the following poems ?
(1} The Tables Turned B Lytical Bailad
(3) The Daffodils (4) Perfect Life
67. A place for housing aeroplane is called :
(1) Haven (2) Hangar
(3) Harbors (4) Heath

68. Which is the correct answer to fill in the blank ?

‘The principal ........... our requests'.
(1} Turned down (2) Turned on
(3} Turned at b (4) Turned off

69. Which one is correct ?

(1) Pneumonia (2) Pnemonia

(3) Pnehmonia - (4) Neumoniah
70. Neither of them .......... e come,

(1) have (2} were

(3) was | (4) has

71. The correct one is' :
(1) Bring the book me that is lying on the table.
(2) Bring the book that lying on the table to me.
(3) Bring to me the book that is lying on the table.
(4) Bring me the book that is lying on the table.

(21) P.T.Q
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72. Choose the correct preposition for the blank :

'l have been studying in this school ............... the last five years'.
(1) since (2) at
(3} in (4) for

73. What is the plural of the word OASIS ?
(1) Oases | (2) Oasises
(3) Oisis | (4) Oaesis
74. Which of the following is a reflexive pronoun ?
(1) Himself - (2) His
(3) Hers : [4]I Theirs
75. The original inhabitants of a country are called :
(1) residents (2) natives
(3) aborigines (4) ancestors

76. A gas decolourizes alkaline KMnO,4 solution but does not give
precipitate with AgNOj3 is !

Tz g ot arfm KMnO, fawes @ TEN Har @ afE AgNO; @
ATy HAGHY FE! FARH &

(1) CHg (2) CoH4 (3] CoHy (4) CoHg



77.

78.

79.

SET/17/20/(ii)

Correct order of reactivity of metal Zn, Cu, Fe & Ag is :
Zn, Cu, Fe 3T Ag argait # bmefictan &0 @8t &7 & -
(1) Fe>Zn> Ag> Cu (2) Cu>Ag>Zn> Fe
(3) Zn> Ag> Fe> Cu (4) Zn> Fe> Cu > Ag

The electronic configuration of A is 2, 8, 2 and that of B is 2, 8, 7.
The formula for the compound formed between A and B will be :

a A 9 B @ gaaitew e smsn 2, 8, 2 ofw 2, 8, 7 ¥y
A ST B M1 &1 g onm

(1) A,B; (2) AB; (3) A/B, (4) A8

In laboratory, accidently a few drops of concentrated acid gets
spill over the hand of a student. What should be done ?

(1) Neutralize the acid with strong alkali
(2) Wash the hand with saline solution

(3) After washing the hand with plenty of water apply solution of
sodium hydroxide on it

(4) Wash the hand immediately with plenty of water and apply a
paste of sodium hydrogen carbonate

ST H T B U OET e @ Hs 4 up e & e
W e MR, I/ HEH dgaH @ R @ g e 7

(1) eT=T & §i% & & I &heAT ey
(2) B P AHGE g A g gy

(3) &M = =;gd ST UMl § g9 & aE Aifedd eRgeEns &
UiE & ST FHTAT AT

(4) = B g BEER G 9 D e QEIN BEd SEEE
N U AT A

(23) : P T8
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80.

81.

82,

83.

The volume of a gas at 0°C is |
OCqu?hmrﬁrﬂammqam%

(1) <0 2) =0 3) >0 (4) =0
The pair aof elements both of which exhibit thc property of
catenation :

(1) carbon and calcium

(2} carbon and silicon

(3) silicon and magnesium

(1) silicon and chloride

fre & S o g0 & 3 O SEe i # 7

(1) =hlE 3N Bieayy

(2) =wE e fafees

(3) i el Aeifaray

(4) fafet of wigs

During galvanization iron is coated with another mctal. The other
metal is :

TREAee & dRF e A gEd U uig ¥ oresifRy Fear s
%,WWET@%:
(1) Cu 2) Cr (3) Sn (4) Zn

Which of the following molecules possesses both single and
double bonds ?

(1) mnitrogen (2) ethene

(3) oxygen (4) ethyne

P o el § orop H amd gl g e sufierd € 7
(1) g | (2) wedr

(3) SR (4) e

(24)
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85.

86.

87.

88.
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Which of the following electronic configuration corresporfds to that
of a metal ?

Bt § 8 -8 et e g @ faera & ergea B 7
(1) 2,6 2) 2,8 @) 2,81 (4 2,8,7

An acidic oxide is formed by the element :

Al SRS T g e © o

() H (2) K (38) Ca 4) C

On heating a hydrated salt to a temperature of 100°C Plaster of
Paris is obtained. The salt is :

U SIAEAT @99 B 100°C e UX T RS 9 WY A6
UE U<t 8T B g2 @aor B

(1) CaS0,.2H,0 (2) CaS03.2H,0
(3) CaC04.2H,0 (4) CaCly.2H,0
The acid present in the stomach of a healthy person is :

(1) acetic acid (2) oxalic acid

- (3) hydrochloric acid (4) nitric acid

@ey AR % e ¥ Iuited e §
(1) uefes e (2) offerdfers arT
(3) EEglNE I (4) mEigep ot

A white precipitate is obtained by adding common salt solution
into a solution of :

Ww%ﬁama}f%aﬁamﬂmﬁwmm@mm
BT 2 7

(1) AgNO;  (2) KNO, ©) NHaNO3 () Ba(No,),

(25) P.T.O
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89. The reaction CH, - Clly 5 Fy - » CHy4 - CH4 is an example of :
(1} oxidation (2) dehydration
(3)  addition {(4) substitution

CHy = CHg + Hy > CHyy - CHy SRR SEme{r 8

(1) aftsrlebyoy (2) et
(38) HAST / HewaT (4) wfereeTae

90. The number of moles in 60 g of carbon is :
(1) 4 (2) 5
{(3) 4 % Avogadro number (4) 5 x Avogadro number
60 T e o A # e 2nfl
(1) 4 (2) 5
(3) 4 x TIRMET HE (4) 5 x TEFIE H@E

91. How many times an atom of sulphur is heavier than an atom of
carbon ?

(1) twice the Avogadaro number (2) 8/3

(3) 3/8 (4) None of these

e T T GTE prd & wF e § e A 37
(1) warmE dem g () 8/3

(3) 3/8 (4) FTH A g T

(26)
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92. Which of the following has a liquid dispersed phase and a gaseous
dispersion medium ?

(1) cloud (2) gel
(3) smoke - (4) soap bubble

ﬁ!ﬂﬁﬁﬁ?ﬂﬁﬁﬂﬁ%ﬁﬁ(mspersedlmﬁﬁmﬁﬂﬁﬂ%
qreqH & w9 o By ' 7

(1) ared ' (2) A

(3) gail (4) |gT gergaT
93. Which of the following T —

(1} Vinegar 2) Ice

(3) Copper Sulphate . (4) Carbon

=1 & & & farsper & 2

(1) R (2) =%

(B) I (FrT axde) (4) e
94. An emulsion is a colloidal solution formed by mixing of :
(1) two miscible liquids
(2) two immiscible liquids
(3} a soluble solid and a liquid

(4} an insoluble solid and a liquid

(27) P.T.O
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95.

96.

97.

LHET UF PSS faaa- dier 2 o Wiy & ) awdr ¥
(1) =& i za

(2) @1 wfae=eia &=

(3) ©w gaqeiied 3tE HIT Uh =g

(4) @ ST S oR U B

Which of the following is a non-metal ?

(1) Lead (2) Cadmium (3) Silicon (4) Calcium
et i & & otarg a3 B 7

(1) = (2) &efyan (3) fafds  (4) @fegas
Which of the following undergoes sublimation ?

(1) Camphor (2) Sodium Chloride

(3) Chalk (4) Sugar

v 4 | Tpdepr SEUeT 8 9%ar & 7

A gas can be liquified by :

(1) increasing temperature and decreasing pressure
(2) decreasing temperature and increasing pressure
(3) jncfeasing both, temperature and pressure

(4) decreasing both, temperature and pressure

(28)



98.

99.
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u Y @l g A7 ofafda fear o qewar ®
(1) <9 FETHT T &1 Sl TefHT
(2) T "< T I F FSET
(3) WU AR @ T B TFTHT
(4) 9 AR T QA Bl =HETFHT

At what temperature the thermometer readings in °C and °F are
the same ?

ﬁ?ﬂWW“CWWéﬁFWWWﬁWﬁ@W?

(1) —40 (2) 273 (3) O (4) 100
Which of the following pairs will net show diffusion ?
(1) Chlorine and Oxygen

(2) Chlorine and anﬁne

(3) Water and Oxygen

(4) Salt and Sand

Frst & § @9-a1r g e (diffusion) 787 =srfaar ?
(1) #FA= ofi Jifediore |

(2) =09 T slfe

3) S ST s

(4) \% i W

(29) P.T.O.
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100. Which of the following is net a general property of gases ?

(1) high fluidity (2) high compressibility
(3) 1argé volume (4) high density

g & = I @1 @ e a8 ¥ 7

(1) offtres wreear (2) orfep ddgaTm

(3) AR anoe= (4) offees w=E
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